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Exercícios do Cap. 14 - Tipler e Mosca, Vol. 1, 4a. edição:

Oscilador harmônico livre

6 A posição de uma partículoa é dada por x = (7 cm) cos(6πt), com t em segundos.
Quais são

a) a frequência,

b) o período e

c) a amplitude do movimento da partícula?

d) Qual o primeiro instante, depois de t = 0 em que a partícula está na posição
de equilíbrio?

e) Em que direção se desloca a partícula nesse instante?

14 As especificações de qualidade de certos equipamentos eletrônicos de uso militar
exigem que o material suporte acelerações de 10g = 98.1m/s2. Para ensaiar o
equpamento é comum usar uma mesa vibratória que pode oscilar com diversas
frequências e amplitudes. Uma delas tem uma vibração com a amplitude de 1.5 cm.
Qual deve ser a frequência da vibração para que a aceleração seja da ordem de 10g?

37 Um corpo de massa desconhecida está pendurado dna ponta de uma mola, que
não está esticada nem compromida, e é solto em repouso num certo instante. O
corpo cai 3.42m até ficar em repouso pela primeira vez depois da queda. Calcular
o período do movimento oscilatório.

42 Um corpo de 2.0 kg está preso sobre uma mola, que por sua vez está montada na
vertical, presa ao solo. O comprimento da mola sem compressão é de 8.0 cm e a
posição do corpo sobre a mola, na posição de equilíbrio, está a 5.0 cm do solo. O
corpo, em repouso no equilíbrio sobre a mola, recebe um impulso para baixo que
lhe atribui velocidade de 0.3m/s.

a) Qual a altura máxima que o corpo atinge, no seu movimento, acima do solo?

b) Quanto tempo leva o corpo para atingir pela primeira vez a altura máxima?

c) A mola, em algum momento, fica com seu comprimento natural?
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d) Qual a velocidade inicial mínima que deve ser atribuída ao corpo para que a
mola fique, num certo instante, com seu comprimento natural?

46 Um corpo de 1.2 kg está pendurado em certa mola vertical cuja constante de força
é 300N/m e oscila com velocidade máxima de 30 cm/s.

a) Qual o deslocamento máximo do corpo?

Quando o corpo estiver no ponto de deslocamento máximo, supondo que U = 0
na posição de equilíbrio do corpo, encontre

b) A energia total do sistema

c) A energia potencial gravitacional

d) A energia potencial da mola

56 Um pêndulo simples, de comprimento L, é solto em repouso fazendo ângulo φ0 com
a vertical.

a) Admitindo que o movimento seja harmônico simples, calcule a velocidade do
pêndulo ao passar por φ = 0.

b) Calcule, com a conservação da energia, a velocidade mencionada no item an-
terior.

c) Mostre que os resultados de (a) e (b) coincidem quando o afastamento φ0 for
pequeno.

d) Calcule a diferença entre os dois resultados para φ = 0.20 rad e L = 1m.

60 A figura abaixo mostra um haltere constituiído por duas bolas iguais, de massa
m = 0.5 kg (que podem ser consideradas massas pontuais) presa a uma haste
delgada (de massa desprezível) de comprimento L = 2m.

0.5 kg

0.5 kg

P

2m

a) Mostre que o período de oscilação desse pêndulo é mínimo quando o ponto P
de suspensão está numa das extremidades.

b) Calcular o período do pêndulo físico quando a distância entre P e a extremi-
dade superior for L/4.

2



61 Imagine que a haste do haltere no problema anterior tenha massa 2m. Determine a
distância entre a extremidade superior e o ponto de suspensão P quando o período
do pêndulo físico for mínimo.

105 Uma pequena partícula de massa m desliza sem atrito no interior de uma cuba
hemisférica de raio r.

a) Mostrar que o movimento da partícula coincide com o que teria se estivesse
pendurada num fio de comprimento r.

b) A figura abaixo mostra uma partícula de massam1 que foi afastada de pequena
distância co polo da cuba, de modo que s1 é muito menor do que r. Uma outra
partícula foi afastada na direção oposta e s2 = 3s1, mas s2 também é muito
menor do que r. Se as duas partículas forem soltas no mesmo instante, em
que ponto se encontrarão? Explique.

m1

m2

r

s1

s2

112 A figura abaixo mostra um pêndulo de comprimento L com um peso de massa
M . Este peso está ligado a certa mola de constante k, como mostra o esquema.
Quando o peso está na vertical do ponto de suspensão, a mola tem o comprimento
de equilíbrio.

Problems | 493

86 •• A damped oscillator loses 3.50 percent of its energy dur-
ing each cycle. (a) How many cycles elapse before half of its origi-
nal energy is dissipated? (b) What is its factor? (c) If the natural
frequency is 100 Hz, what is the width of the resonance curve when
the oscillator is driven by a sinusoidal force?

87 •• A 2.00-kg object oscillates on a spring that has a force
constant equal to The linear damping constant has a
value of The system is driven by a sinusoidal
force of maximum value 10.0 N and angular frequency

(a) What is the amplitude of the oscillations?
(b) If the driving frequency is varied, at what frequency will res-
onance occur? (c) What is the amplitude of oscillation at reso-
nance? (d) What is the width of the resonance curve 

88 •• ENGINEERING APPLICATION, CONTEXT-RICH Suppose
you have the same apparatus that is described in Problem 83 and
the same gold sphere hanging from a weaker spring that has a
force constant of only You have studied the viscosity
of ethylene glycol with this device, and found that ethylene glycol
has a viscosity value of Now you decide to drive this
system with an external oscillating force. (a) If the magnitude of
the driving force for the device is 0.110 N and the device is driven
at resonance, how large would be the amplitude of the resulting
oscillation? (b) If the system were not driven, but were allowed to
oscillate, what percentage of its energy would it lose per cycle?

GENERAL PROBLEMS

89 • MULTISTEP A particle’s displacement from equilibrium
is given by where is in meters and is
in seconds. (a) Find the frequency and period of its motion.
(b) Find an expression for the velocity of the particle as a function
of time. (c) What is its maximum speed?
90 • ENGINEERING APPLICATION An astronaut arrives at a
new planet, and gets out his simple device to determine the gravi-
tational acceleration there. Prior to his arrival, he noted that the ra-
dius of the planet was 7550 km. If his 0.500-m-long simple pendu-
lum has a period of 1.0 s, what is the mass of the planet?
91 •• A pendulum clock keeps perfect time on Earth’s surface.
In which case will the error be greater: if the clock is placed in a
mine of depth or if the clock is elevated to a height Prove your
answer and assume that 
92 •• Figure 14-34 shows a pendulum of length with a bob of
mass The bob is attached to a spring that has a force constant 
as shown. When the bob is directly below the pendulum support,
the spring is unstressed. (a) Derive an expression for the period of
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this oscillating system for small-
amplitude vibrations. (b) Suppose
that and is such
that in the absence of the spring
the period is 2.00 s. What is the
force constant if the period of the
oscillating system is 1.00 s?
93 •• A block that has a mass
equal to is supported from
below by a frictionless horizontal
surface. The block, which is at-
tached to the end of a horizontal
spring that has a force constant 
oscillates with an amplitude 
When the spring is at its greatest
extension and the block is instantaneously at rest, a second block of
mass is placed on top of it. (a) What is the smallest value for the
coefficient of static friction such that the second object does not
slip on the first? (b) Explain how the total mechanical energy the
amplitude the angular frequency and the period of the
system are affected by the placing of on assuming that the co-
efficient of friction is great enough to prevent slippage.
94 •• A 100-kg box hangs from the ceiling of a room—
suspended from a spring with a force constant of The un-
stressed length of the spring is 0.500 m. (a) Find the equilibrium po-
sition of the box. (b) An identical spring is stretched and attached to
the ceiling and the box, and is parallel with the first spring. Find the
frequency of the oscillations when the box is released. (c) What is
the new equilibrium position of the box once it comes to rest?
95 •• ENGINEERING APPLICATION The acceleration due to
gravity varies with geographical location because of Earth’s
rotation and because Earth is not exactly spherical. This was first
discovered in the seventeenth century, when it was noted that a
pendulum clock carefully adjusted to keep correct time in Paris lost
about near the equator. (a) Show by using the differential ap-
proximation that a small change in the acceleration of gravity 
produces a small change in the period of a pendulum given by

(b) How large a change in is needed to account
for a change in the period?
96 •• A small block that has a mass equal to rests on a pis-
ton that is vibrating vertically with simple harmonic motion de-
scribed by the formula (a) Show that the block will
leave the piston if (b) If and at what
time will the block leave the piston?
97 •• Show that for the situations in Figure 14-35a and 14-35b,
the object oscillates with a frequency where 
is given by (a) and (b) Hint: Find
the magnitude of the net force on the object for a small displacement 
and write Note that in Part(b) the springs stretch by differ-
ent amounts, the sum of which is SSMx.
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98 •• CONTEXT-RICH During an earthquake, a horizontal floor
oscillates horizontally in approximately simple harmonic motion.
Assume it oscillates at a single frequency with a period of 0.80 s.
(a) After the earthquake, you are in charge of examining the video of
the floor motion and discover that a box on the floor started to slip

a) Deduza a expressão do período de oscilação desse sistema no caso de vibrações
de pequena amplitude.

3



b) Imagine que M = 1kg e L é tal que na ausência da mola o período seja 2.0 s.
Qual a constante da mola k se o período de oscilação do sistema for 1.0 s.

116 Mostre que nas duas montagens nas figuras abaixo o corpo oscila com a frequência

f = [1(2π)]
√
kel/m, com

a) kel = k1 + k2

b) 1/kel = 1/k1 + 1/k2

Problems | 493
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98 •• CONTEXT-RICH During an earthquake, a horizontal floor
oscillates horizontally in approximately simple harmonic motion.
Assume it oscillates at a single frequency with a period of 0.80 s.
(a) After the earthquake, you are in charge of examining the video of
the floor motion and discover that a box on the floor started to slip

Dica: Determine a força resultante F sobre o corpo para pequeno deslocamento x
e escreva F = −kelx. Observe que em (b) as molas se distendem de forma diferente
e que a soma das elongações é x.
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